I'm going to pay you
with cash, so | don't
have to hassle with
all that paperwork!

CHAPTER OBJECTIVES

When you complete this chapter successfully, you will be able to:
1. Calculate salary and hourly wages.

2. Use salary, hourly wages, piecework, differential piecework, straight commission, sliding
scale commission, and salary plus commission to calculate payroll.

3. Determine employees’ federal income tax and FICA withholding.

B Tom earns $6.57 per hour painting fences. What is his gross pay for a week in which he
worked 385 hours?

8 Eleanora earns a 5% commission on her weekly sales of dance equipment. What was her
commission for a week in which she sold $5958.76 in merchandise?

hen you hear people talk about the resources that go into producing something, you
probably think about raw materials like wire and wood, plastic, and peanuts. But no
business can operate without another type of resource: people. Just as businesses must pay for .#=
the other resources they use, so they must pay for the human resources they use. (It’s a sad fact

of business life that unpaid employees seldom stick around.)

In this chapter, you will learn about a variety of ways employers have developed for paying
their workers. A little concentration, you'll find, will really pay off here.
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‘Compute overtime pay?

... . I not, you need this section.

Computing Salary

Salary Payment to indi- The most common method of paying white-collar and management personnel is by

vt_duais fo_ their _la’bor Salary is a fixed amount of money paid to an employee for certain assigned duties. T§

E:g;;?diggsdo?):fewg gglﬁ‘;m ber of hours worked or the productivity of the employee does not affect the salary i

werad course, they do affect the salaried employees’ chances of keeping their jobs, being py
and getting raises. (Paying an employee with a combination of salary and commission
ered in Section 6.2 of this chapter.)

Salaries are often stated as an amount per year. Few people are paid only once a year, h
Most annual salaries are converted to more frequent pay periods. Common pay periods

Weekly 52 times per year

Biweekly Every other week—26 times per year
Semimonthly Twice a month—24 times per year
Monthly 12 times per year

For example, if Keith’s annual salary is $22,365 per year, what is his monthly salary?
Keith’s monthly salary, simply divide the annual salary by the number of months in a y

$22,365
12

=$1863.75

i never seem to remember Pl try. Bi means two
the difference between : as in bicycle, so biw
biweekly and semimonthly. i ] means every two we
Can you help me? 3 Semi means half as
semicircle or semipt
semimonthly means
half a month, or twic
month. Remember b
and semicircle.

Better?

P RS

s

(WORK THIS PROBLEM]

The Question:

Judy’s annual salary is $24,960. Compute her salary payments if she is paid

TURN

(a) weekly (b) biweekly (c) semimonthly (d) monthly
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Hourly Wages Payment
to individuals for their labor
based on a rate per hour
worked.

Gross Pay Pay before
taxes.

Fravin Nalowrad amnd Eleovesrfo F
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The Solution:

$2 , $24.9¢ :

(a) Weekly: $4’,?—m=$480 (b} Biweekly: 3 -:;’6)—0 = $960
, 5248 : $24,960

(¢) Semimonthly: 3’—2_;1_;:9{-J-:Sl(]df[) (d) Monthly: ~-::—;)'(-}—):S:2{)8(J

Calculating Hourly Pay

The most common method of paying wages is based on the number of hours worked. Straight
hourly wages are very easy to calculate. The gross pay is the number of hours worked times
the pay rate per hour.

For example, if Patti worked 38 hours last week and her pay rate is $6.78 per hour, what is her
gross pay?

. Houtyate

Gross pay = 38 X $6.78 = $257.64

(WORK THIS PROBLEM
The Question:

Tom earns $6.57 per hour painting fences. What is his gross pay for a week in which he worked
384 hours?

| v YOURWORK |
The Solution:

38% x $6.57 = 38.25 x $6.57 = $251.3025 = $251 30 rounded

The easiest way to work this problem is to first change 38} to a decimal form, 384 = 38.25, then
multiply. If you need a review of changing fractions to decimal numbers, see Section 3.3.

Most businesses use a payroll sheet to compute gross pay. The payroll sheet for straight hourly
wages will include the employee’s name, Social Security number, number of hours worked per
day, total hours for the week, rate per hour, gross pay, and total gross pay.

The following is a sample payroll sheet. We can complete this payroll sheet by calculating each
employee’s total hours per week, multiplying it by that worker’s hourly wage to find the gross
pay for each employee, and then totaling the gross pay column vertically.
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Paving Salaried and Hourly Employees

) Eyre, Jane 6 8 5 8 8 25 6.50 227.50
_ Marner, Silas 8 8 8 8 8 40 5.25 210.00 g
i Sawyer, Thomas 7 7 6 7 7 54 6.84 25256 ;
Total 670.06 ‘;
[WORK THIS PROBLEM ) : . - ]

The Question:

TURN
Bovary, Emma 7 8 6 7 8 6.00 !
Thorpe, Jim 8 8 8 8 7 6.29
Bingo, Bob 8 8 8 8 8 7.58 g
Friday, Joe 8 6 8 8 7 7.18 P
Watson, John 6 8 7 7 8 5.94
Total

[ v YOURWORK }

The Solution:

Bovary, Emma 7 8 6 7 8 36 6.00 216.00
Thorpe, Jim 8 8 8 8 7 39 6.29 24531
Bingo, Bob 8 8 8 8 8 40 7.58 303.20
Friday, Joe 8 6 8 8 7 37 7.18 265.66
Watson, John 6 8 7 7 8 36 5.94 213.84

Total 124401

Paying Overtime

By law, nonexempt employees must be paid at a higher rate per hour for overtime. Exempt
employees are not covered, and salaried employees are compensated on a different basis. For
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States, overtime is usualiy

{ _ overtime rate is:
any ume in excess of 40

hours worked; individuals (s ; T i LI SR e ey
paid hourly wages must L ; . Overtime rate = 1% xregular rate
receive 17 times the regular Leeoe i LR

rate for all these hours. i N ) _
For example, if the regular rate is $8.58, the overtime rate would be:

ad l -

17x$8.58=1.5%$8.58=$12.87

Note that you need to write 14 as 1.5 before you multiply.

For employees working over 40 hours per week, four steps are necessary to compute their gross
pay.

Steps: Calculating Hourly Pay with Overtime

STEP 1. Compute the regular pay. (Note that the regular hours cannot exceed 40 for a week.)
Regular pay = regular hours x regular rate per hour
STEP 2. Compute the overtime rate.

Overtime rate = 15 x regular rate
STEP 3. Compute the overtime pay.
Overtime pay = overtime hours X overtime rate
o STEP 4. Compute the total wages or gross pay.

Total wages = regular pay + overtime pay

[t’s really quite easy. For example, Pauline earns $5.86 per hour. Last week she worked 46
hours. What were her regular pay, overtime rate, overtime pay, and total wages?

Step 1. Regular pay = 40 x $5.86 = $234.40

Step 2. Overtime rate = 1§ x $5.86 = 1.5 x $5.86 = $8.79

Step 3. Overtime pay = 6 x $8.79 = $52.74

Step 4. Total wages = $234.40 + 52.74 = $287.14

(WORK THIS PROBLEM )

The Question:

Dave worked 45 hours last week. His regular pay rate is $9.88 per hour. What is his total wage?

(_vYOURWORK | —
The Solution:

Regular pay = 40 x $9.88 = $395.20
Overtime rate = 15 x $9.88 = $14.82
- Overtime rate = 5 x $14.82 = $74.10
:. Exe nom — .
basis. FOr Total wage = $395.20 + 74.10 = $469.30
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all the decimal places and round only afier you have computed the OVeTine pay.

(WORK T PROBLE- — ———— -
The Question:

Mary worked 47 hours last week. Her regular pay rate is $7.19 per hour. What is her regular
pay, overtime rate, overtime pay, and gross pay?

[ ' “_Y@E"@_RE-}_ e ————
The Solution:
Regular pay = 40 x $7.19 = $287.60
Overtime rate = 15 x $7.19 = $10.785 ~——— Don’t round here.
Overtime pay = 7 X $10.785 = $75.495 = $75.50  Rounded.
Gross pay = $287.60 + 75.50 = $363.10

Of course, few businesspeople (if any) solve such problems by hand, preferring to use a calcu-:
lator.

Finding Overtime with a Calculator

A calculator can be very handy when solving overtime pay problems with extra decimals.
Begin by finding the regular pay. For the problem in the example, press

40 7'19 EI - ig:mﬁ'.;‘:&;*xmmo ;@gg

If your calculator can store a number in memory, store this answer. If not, jot it down on
a piece of paper.

Next, find the overtime pay by multiplying 1.5 by the regular rate by the number of over-
time hours. Then add in the regular pay, either by hand or from the computer memory.

The following shows how to complete this process:

15[x] 719 [x] 7 [7] — SRR 2876 [=] — 1

Rounding this answer gives the same $363.10.

We can easily incorporate the overtime calculations in the payroll sheet by adding columns for
overtime hours, overtime rate, overtime pay, and gross pay.

YOU
TURN

(WORK THIS PROBLEM]
The Question:

Complete the following payroll sheet. Each employee’s calculations should be made as in the
previous problem. Add columns to find the totals for regular pay, overtime pay, and gross pay.-
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Hours 1 lotal i Regualar | Regular | OT. | O, | Reeul O.F, 1 Gross
Name M. T W T F Hours | Hours | Rate | Howrs | Rate | Pay { Pay 1o Pay
_— ] T .
Green, Jim {8 9 7 9 9 $6.56 | |
(’Connor, Jerome 10 ¥ 8 vy 4 598 | |
e B el e e i TGl o _ : R |
Palmer, Albert 10 9 1 9 & 1.79 | !
s e L R L P Ve [ty ol et e S — !
Smith, William 8 8 7 8 8 6.42 |
B —— b L S S, L % S b
| )
Van, Edward 5 9 8 10 8| 6.16 |
Totals i
TP A N IR ~SPRNIo ] otoet L T i e SIS et ALl et st Eev e |
B ——
The Solution:
1 O% | Gross
| Pay | Pay
Green, Jim 8 9 7 9 9 42 40 $6.56 2 $9.84 $262.40 | $ 19.68 | § 282.08
O’Connor, Jerome | 10 8 8§ 9 9 44 40 5.98 4 8.97 239.20 35.88 275.08
Palmer, Albert 10 9 10 9 8 46 40 1.79 i} 11.685 311.60 70.11 381.71
Smith, William g8 8 7 8 8 39 39 6.42 0 - 250.38 0 250.38
Van, Edward 8 9 8§ 10 8 43 40 6.16 3 9.24 240.40 27.72 274.12
i Totals $1309.98 | $153.39 | $1463.37
i 2 R
£
5
; Be careful with the third employee above. The overtime rate is 13 x $7.79 = $11.685. Do not
i round the overtime rate. Check your addition by adding the total regular pay and total overtime

pay. This should equal the total gross pay: 1309.98 + 153.39 = 1463.37.

Accuracy is essential! Whether you compute the payroll by hand or with a calculator, you
should always check your answers. An incorrect answer will cost either the business or an
employee money. It may possibly cost a job.

Now check your understanding of payroll calculations by completing the practice problems in
Section Test 6.1.




Name
Date

Course/Section

The following questions test your understanding of Section 6.1, Paying Salaried and Hourly
Employees.

A. Convert the following annual salaries to the required pay period.

I §22380=__
3.831800=_
50914144=
7. 822,776 =
9. $41,100 =

11. $23,270 =

_ . monthly

____ monthly

_weekly
biweekly
monthly

biweekly

2. $23640=__

4. $25.870 =

6. $29.640=__
8. $23,660 =
10. $25,800 =

12, $34,580 =

5

__ semimonthly

_ biweekly

emimonthly

weekly

semimonthly

weekly

B. Convert the following annual salaries to the various pay periods.

1. $31,200

2. 20280

3. 21,840

4, 29,640

5. 34,320

6. 56,160

7. 46,800

8. 15,600

9. 39,000

10. 26,520

11. 54,600 S
12. 62400 )

13. 17,160

14, 48,360

15. 23,400 -
16. 24,960




. Complete the following weekly payroll sheets.

I.

. Czarnecki, Randall

Hours

. . o ; . Total | Rate
o Name M T W T F | Houss| perHomr |
I. Bender, Keith 8 8 8 8 8 3 812
2. Chao, I-Na-n—-_ N 8 7 | 6 5 g B ) 7.55 o
3 Greenwood.Robert | 6 | 8 | 5 | 8 | 7 0.38 o
4, Lu.liak. Jo-im.-. N —';’__ 3_ ] é_. h - 7 T *).;3_ ‘ -
-5, I-;lt,_[);\;_“ __8 _. 6 (). 8 (-) l.().Z;_“ -
-?lihinc, Alanﬁmhm_ 8 0 8 [} 8 o —E -
7. Tanner, Christie
8. Vasquez, Jose
Total

2. Fazlian, Mohsen

3. Hudson, Teresa

4. Lawson, Dennis

9 |10 9|7

5. Martinez, Marie

10| 10 | 10| 10

6. Ngvyen, Lam

7. Querry, Frank

8. Titus, Patrick

Totals
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. Hours Sl 4 i i : | |
| Toftal Regular | Regular | OL O.T. | Regular

i Name M ;f.‘]‘" W g 'I'_{_{;zz'f_s” | Hours | Rate | Hours : Riaié_ ! Pay

i . N S O 2 O |

o 2. Etheredge, Hugh 8 8 g 9 4 | 943 o
SoLaponGeome | 9 |8 |7 |6 | 5| ] sm T [
4 McCabe. Lowell | 10 | 10 | 10 | w0l ":i_ ] _E._L};_J_'_”_J' ”'_Jf T
5 Newen.Td | 9| 9 |10 ] 7 T e T
oRedtwo |9 |5 |9 |8 o] | e 1T
_;:m';ivis, Jc‘.r{_)mt:_ 8 ] 9 8 4 8 ] ————_—é?;i_ I R N T e
_éi-,"\_?\f(.@,—{{cgena B 9 8 7 9 10 - 9.77 - -_‘_-_ I
- _'I"ntals B ) N
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Piecework Payment to
individuals for their labor
based on a rate per item

produced.
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Can You:

Calculate piecework? (. 0 o
Compute differential piecework pay?

Pay commissions? sou
Determine a sliding seale commission? -
Caleulate salary plus commission?

.. . If not, you need this section,

Calculating Piecework

Some businesses pay their employees based on actual production. One such method is by piece-
work, where each employee’s pay is based on the number of pieces completed during a shift or
work period. The gross pay is the product of the number of picces and the rate per piece.

For example, Brad works for the Big Ben Bolt Company, making steel bolts. If he earns $0.23
per bolt and completed 337 in a day, what is his pay?

Gross pay =337 X $0.23 = $77.51

Piecework calculations can be easily incorporated in a payroll sheet. This payroll sheet will
include the employee’s name, number of pieces completed per day, total pieces completed per
week, rate per piece, and gross pay.

WORK THiS PROBLEM}—
The Question:

Complete the following payroll sheet by finding the total pieces and gross pay. Don’t forget to
total the gross pay column.

Fillmore, Millie

Harding, Warren 35 33 38 40 36 2.15

Polk, James 26 27 22 24 25 221

Taylor, Zachary 56 56 57 58 55 1.54

Van Buren, Marsha 96 87 85 89 88 1.35
Total l

229
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Differential Piecework
Payment to individuals for
their labor based on a
series of rates per piece
produced that increases as
the number of pieces pro-
duced increases.

The Solution:

0 |
SNAmE ; K . Pieces | Raw i Gross
Fillmore, Millie 40 38 35 42 4] 196 I $1.94 $ 38024
Mading Wamen | 35 33 8 w0 36 | w2 | 215 | i ]
PoliJames | 26 21 2 o4 s "m!i__! 2 | e
Taylor, Zachary | 56 56 57 58 55 | 2 | s 43428 |
_\_’E;;l-a'en, Marsha 96 _“g:f'" _8}-- _8_9“_&;8_445 T I?ﬁ_ o E(B‘TS
 Tow 1 $2080.6!;

Computing Differential Piecework

Some businesses use differential piecework as an incentive to increase production. T
method uses a scale in which the rate per piece increases as the number of pieces completeg
increases. For example, the Ali Box Works pays its employees for each box constructed accord:
ing to the following schedule: '

1-100 boxes @ $0.29 each
101-150 boxes @ $0.31 each
151 boxesandup @ $0.34 each

If Ray constructed 162 boxes in a day, we can compute his gross pay as follows:

Number of boxes

First 100 > 100 boxes X $0.29 = $29.00

101-150 > 50 boxes X 031= 15.50
151-162 (162—150 = 12)—> 12 boxes X 0.34=_4.08
$48.58

Note: Ray is not paid at the $0.34 rate for all 162 boxes, only for those he constructed after hd
completed 150 boxes. :

|WORK THIS PROBLEM] N o
The Question: '

Signs of the Times pays its employees for each medium-sized sign by the following dail
schedule: ‘

1-12 signs @ $2.55 each

13-16 signs @  2.65each
I7signsandup @  2.78 each

Calculate Mona’s gross wages or total pay if she painted 18 signs in one day.




s
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The Solution:

First 12 signs - —-— = 12 % $2.55 = $30.60)
Signs 1316 ~— —~  Ix 2.65= 10.60

Signs 17-18 ——+ 2x 278- 5356
Gross wages —-—————___ . $4676

[n a differential piecework payroll sheet, the rate column i deleted. since the rate varies,

o T OB — -

The Question:

Steele’s Cabinet Shop pays its employees for each cabinet assembled per week according to the
following schedule:

1-25 cabinets @ $12.45 each
26-30 cabinets @  12.67 each
31 cabinetsandup @  12.98 each

Complete the following payroll sheet for Steele’s Cabinet Shop.

Baer, Max 6 6 5 6 S
Douglas, Donna 6 5 5 § 4
Radis, Mary 6 7 7 6 7
Ryan, Corry 4 4 5 5 4
Total

(v YOURWORK | - —

The Solution:

Baer, Max Douglas, Donna

25 x $12.45 = $311.25 25 x $12.45 = $311.25
3x 12.67=_38.01

$349.26
Radis, Mary Ryan, Corry
25 x $12.45 = $311.25 22 x §12.45 = $273.90

5x 1267= 6335
3x 1298 = 3894
$413.54




Commission Payment to
individuals for their labor
based on a percentage of
their total sales.

Straight Commission
Payment to individuals for
their labor based solely on
a fixed percentage of their
total sales.

Cabinets per Day 1 o L
: M T W T F. (Cabinets | GrossWa
Baer, Max 6 6 5 6 5 28 I $ 349.26
Douglas, Donna 6 5 5 3 B 23 311.25
Radis, Mary 6 7 7 6 7 33 413.54
Ryan, Corry 4 4 5 ] 4 22 273.90
Total $1347.95

e

—_——

If you are having trouble with these arithmetic calculations, return to Chapter 3 1o review thej
addition and multiplication of decimal numbers.

Paying Commission

Another procedure used for calculating wages is commission. A commission is usually paid to]
people selling merchandise. There are several different commission plans. The easiest to calcu-
late is straight commission. In straight commission the commission is a percent of the total §
sales. :

For example, Richard earns a 6% commission on his weekly sales. What was his commission
for a week in which he sold $4847.65 in merchandise? '

! Changs the porsent lo %

6% X $4847.65 =0.06 X $4847.65 = $290.859 = $290.86 rounded

Remember that you must always change a percent to a decimal number before multiplying.
Most calculators do it automatically. If you are having difficulty changing 6% to a decimal, turn.
to Section 4.1.

[WORK THIS PROBLEM)
The Question:

Eleanora earns a 5% commission on her weekly sales of dance equipment. What was her com-
mission for a week in which she sold $5958.76 in merchandise? '

(v YOuRWORK }—
The Solution:

5% % $5958.76 = 0.05 x $5958.76 = $297.938 = $297.94 rounded
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i LSElRIMINgG iGing =Cale Commissions

o5 Sliding Scate Commission A second method of caleulating commissions uses a sliding scale. Much like differential piece-
2 Payment to individuals for work, sliding scale commission rewards employees for increased production. The commission
f - Sk Tk sear © ; ] . . 7 B = L o R

) their labor based SORNON. e frmpanset a6 salesiorinss. For example. the Wilton Sporting Goods Supply Company pays

a percent of their total
sales, with the percent

increasing as sales increase.

its employees on the following weekly schedule:

4% on sales up w $4000
3% on sales from over $S4000 o $6000
6% on sales over $6000

What were Bo's gross wages for a week in which he had a sales total of $7663.41

First $4000 4% % 54000 =0.04 x  $4000 = $160.00

$4000 to $6000 5% 2000=0.05%x  2000= 100.00

Over $6000 6% x 1663.40 = 0.06 x 1663.40 = 99.80 rounded
$359.80

If you have trouble changing fractional percents such as 73% and 84% to decimal numbers,
review Section 4.1.

(WORK THIS PROBLEM
The Question:

Yucks Novelty Company pays its salespeople on the following weekly schedule:

7% on sales up to $8000
77% on sales from over $8000 to $10,000
84% on sales over $10,000

Complete the following payroll sheet.

Barr, Rose $ 9567.42
Bird, Jay 7526.98
Williams, Robert 10,846.29
Total B

(v YOURWORK }—
The Solution:

Barr, Rose

7% x $8000.00 = 0.07 x $8000.00 = $560.00

73% % 1567.42=0.075x 156742 = 117.56 rounded
Total = $677.56

Bird, Jay

7% x $7526.98 = 0.07 x $7526.98 = $526.89 rounded




Salary Plus Commission
Payment to individuals for
their labor based on a
combination of salary and
either a straight or a sliding
scale commission.

R 2 Tk

Wiltlams, Robert
T x $8000.00 = 0.07  x $8000.00 = $360.00
73% % 2000.00 =0.075 x 2000.00 = 150.00

83% X 846.29 =0.0825 x 84629 = (9.82 rounded
$779.82
.:.el\*-mnc.: i Sales Gross .‘.\"agw o
- Barr, Rose | $ 9567.42 $677.56
. !5ir;i. Jay - - —""?r’:);_ T - _“—ﬁ'_zg_wsﬁ)-w S
CWilliams,Robert | 1m0 | wem
e i e

Calculating Salary Plus Commission

A third method of calculating commissions is salary plus commission. The salary assures
employees of a regular income, and the commission acts as an incentive plan. With this method,
you calculate the commission and add it to the salary to compute the gross pay.

For example, Marissa earns a weekly salary of $335.50 plus a commission of 4% on her total
sales. Let’s calculate Marissa’s gross pay for a week with total sales of $1295.98.

Commission = 4.5% % $1295.98 =0.045 x $1295.98 =  $58.32 rounded
Salary = + $335.50
Gross Pay = $393.82

Never multiply by a percent. Always change the percent fo a decimal number first or use a cal-
culator with a percent key.

(WORK THIS PROBLEM}
The Question:

The Chic Boutique pays each salesperson a salary plus a commission of 5% on his or her total
sales for the week. Complete the following payroll sheet.

Sprat, Jack $225.50 $8475.60

Tinkerbell 217.75 5024.50

Oz, Dorothy 232.25 6754.90

Draper, Donna 221.40 5174.90
Total

e T

f

B T,




LYORWOR Jom
The Solution:

Weekhy

i . Cirass
Name _ Salary 1 Sales

o T TN i
Commission i Pay

1 78 ‘ 3 049.28
5024.50 [ 251.23 468.98

|
Sprat, Jack | 520550 {f $8475.60 | $423
Tinkerbell 21775

St ORI L

Oz, Dorothy | 23225 | 675490

37.75 | STO.00
Ry S S SO S PR .ol

nna | 221.40 | 517490 | 2 480,15

Draper, Do

—_— b

$2168.41

Once again, businesspeople generally use calculators to perform these calculations.

Determining Salary Plus Commission with a Calculator

You can use a calculator to find salary plus commission in one smooth flow. For exam-
ple, in the case of Mr. Sprat,

8475.6 x| .05 [=] — g

Using a business calculator with a percent key,

84756 [x]| 5 [%] — B

| Gross S pay ‘

L

Be sure to check your understanding by working through the practice problems in Section
Test 6.2.
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The MegaBucks Payroll

ve i chiarge of payroll for Mega Corpora- 3. Some of the salespeople work an straighit commission.

avise a payroll system that will allow each What will sales have to be to earn $500 if the

Jortunity to make $500 per week. Help her commussion is 12%7?

3 calculations. Round all answers 1o nearest 4. A few people in production nreter a plecework pay scale,
it they are paid $2 60 for each box of bucks, how many
boxes wil such a worker have to fill to earn $5007

dis will & person making $10.25 per hou

to make $500?

ple earn a base of $225 with 7%

1 all sales. How much will a salesperson

order to earn $5007 J
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Lhe Toliowing problems teg

Commission Pay,

A. Complete the following

your 1.11:-dn:r.x1;uhiing_* ol Section

piecework payroll sheet.

. [)L‘li:i‘llljl?i]}g PR‘CL"»\'H]']\' Ul

S

Picees Compleied

Tinial
Preees

Rate Gross Pay

i Adams, Charles
2. Bilbery, Diann:

4. Herrmann, Kay

42 38 36 35
43 39 -0 41

5. McGee, George

6. Nelson, Christina

$2.23

2.30

1
——— __._._‘_ —_——

7. Ta, Long

8. Vanbeber, Jerry

42 37 39 40

B. Complete the following payroll sheet.

The Pelota Bearing

schedule:

Company pays its employees on

1--200
201-250 @
5landup @

@ $1.50
125
[.95

a piecework basis using the following

ON ame:

e it st i

Bearings per Do i

- W "

Laross
Wages

b Ashley. Glenda

2. Custer, Bradley

I
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(. Complete the monthly payrolt sheet.

iys W T O 0 S T W Wit Ggesipitiaad ao
Phe Plau Realty Company pays sts salespeople o straight 3% Commission.

. i "
: | gy g i ‘ i
Nume | Total kales ; Gross Pay
: "
i Plickinger. feilrey l S 63,390

~oGireer. Robyn Q650

3 \I mh . Pamela 135,900

s
4
4. Perdue, }\/’IL’IISH‘&I 3_ 42 750

5. Scaramucct, Todd 35,220

Thomneon, Cheryl EA7 RAN

7. Wallace, LaVonna 95.500

8. Wehba, David 55,555

D. Complete the following weekly payroll sheet.

The Phyle Office Products Company pays its salespeople on the following weekly schedule:
13% on sales up to $18,000
2% on sales from over $18,000 to $25,000
23% on sales over $25,000

Name ¥ Total Sales -~ | Gross Pay

@ oulx Mlt,hdt_l $18,952

= B mlh ¢ hm[y 22.?65
3. (unnu. [’lnlhp [5.691

Ishmdd Jmmthdn 25 ??7

s | wnard Jamu lh 9? 3

0. Ncwc!], I’zimc i l 12,78"
Rtt.d linLLl "] 105
8. Sounders, Jelt 3(}‘)3



k.. Complete the weekly payvroll sheet.

Rudical Radials pays its salespeople a weekly salary plus @ 31% commission on their .

Maine : Salury : kales {ornmissinn Lergey §

|, Cirew Kisty L s 3527 | |

' Ml Mugar | 18 | B

b Newes James | 130 | w450 T

+ Quiroz Maica | 145 | 2035 " '
S Roberson Richard | 180 | s || T
6 Southern.Dawn | e L e I R
/. Taliaterro, Beatrice 145 2658
8. Wolf, Mark 190 w2 |

F. Solve these problems.

I. Claudia pays her operators in Claudia’s Clip-Joint an hourly wage plus a 7% commissi
on product sales and a 3% commission on services. Joan, who receives $6.25 per hour,
provided services totaling $735 and sold products worth $152 last week while working
hours. What was Joan’s gross pay?

2. Sally, another of Claudia’s operators, receives $6.52 per hour, with time-and-a half for
overtime (over 40 hours per week), along with the 7% commission on saies and the 3%
services. Last week Sally worked 43.5 hours, provided services worth $896, and sold
products totaling $205. What was Sally’s gross pay?
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L‘»r;emmoymcm Tax

Can You:

Determing federal income tax by the wage bracket mothod?
Caleulate federal income tax by the percentage method?
Compute FICA and Federal Uneniplovment Tax?

it Hes, Vol peod P s section.

Monies sub- Look at any paycheck and you're sure to spot a large difference between wages or salary and

Jross pay 1o what an employee actually gets o take home. The difference is the deductions subtracted.

s of federal,

yme tax with-
health insur-  Common deductions ll]LI{ldL rudual income tax, FICA (Social Security and Medicare). state

PO, diun i "--'l-il NG taaey, nealih insurance, ilfc oeianus. PRReRRb i, olis e OSMORL S0 Pamdl ) e

les, and so list seems uldlus and thc total 1s slabgcrmg

“Total deductions = sum o " all det

B

arnings In Chapter 6, we calculated gross pay-—ecarnings before any deductions. Net pay—take-home
ductions. pay’—1is pay afrer deductions.

_ < o088 pay — total deductions
nings after all S s s :

{ The gross
is before
deductions
and the net
is after
deductions.
The net is
what is caught
in the net
after the
: deductions
S/ 7o sllp through

£3d You Know?

What is the
- difference

| between net
{ and gross?

Sounds like

what’s gross

is how little
you net.

Understanding Federal Income Tax

1e Tax Usually. the largest deduction from a paycheck is the federal income tax (FIT). Employers are
(FIT) required to withhold a certain amount from each paycheck and to keep records of each
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Finally, federal laws require all employees to file a “W4” form that declares the number of
exemptions they wish to claim. An exemption is an allowance for a member of the household.
A W4 form must be filed before income tax can be computed.

. . ce- OME No_ 1545-0010
o W=4 Employee’s Withholding Allowance Certificate
E:S,?,'},T‘ggigm";ﬁ;‘” P For Privacy Act and Paperwork Reduction Act Notice, see reverse. 2@00
1 Type or prind your first name and middle initial Last name 2 Your social security number
Home address (number and street or rural route) 0 Singls [ Mmarried
. 5 3Marital | [ mMarried, but withhold at Higher Single rate.
City or town, state, and ZIP code status Mote: If married, but legally separated, or spouse is a
nonresident alen, check the Single box
4 Total number of allowances you are clarrnmg {from line G above or from the Worksheets on back  they apply} . ; 4 g
5 Additional amount, if any, you want deducted from eachpay . . . : : -

6 | claim exemption from withholding and | certify that | meet ALL. of the following conditions Tor exempilon
* Last year | had a right to a refund of ALL Federal income tax withheld because | had NO tax liability; AND
» This year | expect a refund of ALL Federal income tax withheld because | expect to have NO tax liability; AND
« This year if my income exceeds $550 and includes nonwage income, another person cannot claim me as a dependent.

If you meet all the above conditions, enter the year effective and "EXEMPT" here . - e r I -
7 Are youa full-time student? (Note: Full-time siudents are not automatcally exempt.) ; : I 7 [ ves [Ino

R R 4

Unmar pen ;lm,a: fm;qury | t,erury: wal | am entitied 0 he number of withholding allowances claimed on "\l‘.: L.O[llhl ate o g mﬂed 1o claim exempl slalus

Employee's signature P o L Date P o
8 Employer's name and address (Employer: Complete 8 and 10 only if sendlng to IRS) 9 Othice code | 10 Employer identification number
(optional)

Using the Wage Bracket Method
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And the number of withhiolding atowances clahmed is

: . . | 8 : g - R :

i ‘ l g i 3 ‘ 4 5 6 [ 7 8 Y
O8N | i ! . TSRO S ool 2 =
i Phe ainouns of mcone s to be withheld is
53 1 i 8] ] 0o 3] " { ] 0 ’| 4 f T
o0 oo (0 0 e () 0 0 0 f) f)
6= 1! ' §] | ) (i { { {) ‘ 8] i i i) {)
70 i 0 0| 6o 0 0 0 0 0 0
75 i | { 1t} g 0 i 1] 0 | 1] 0] (} §
8¢ v g 0 0| 0 T ( 0 0 0
83 5 0 0 | " i 0 0 i it ( 0 (3
9% 6| ) g 0 il il () i 0 0
93 t { 0 u { : () {0 ; i} i 0 3]
00 b | o o |0 I S 0 0 0
13 h I 4] () i 9] () t () 4] i
10 4y | {) 9] { () {) () { i
15 U] 2 () 3] () () ) (} () ()
20 10 3 () 0 0 0 () 0 () ()
25 11 4 Y] () 0 ) §] 0 () ()
30 12 4 0 4] 0 0] 0 0] f] §]
35 12 5 0 0 0 o | 0 0 0 0
# o i : : i : . i
45 i4 7 0 0 | 0 0 0 0 0 0
50 I5 7 0 0 0 0 0] 0 0] 0
55 15 8 l 0 0 0 0 0 0 0
60 16 9 ) 0 0 0 0 0 0 0
65 17 10 2 0 0 0 0 0 0 0
70 18 10 3 0 0] 0 0 0 0 ()
75 18 Il 4 0 0 0 0 0 0 0
80 19 12 5 0 0 0 0 0 0 0
85 20 13 5 0 0 0 0 0 () 0
90 21 13 6 0 0 0 0 0 0 0
s 21 14 7 0 0 0 0 0 0 0
00 22 15 8 0 0 0 0 0 0 0
10 23 16 9 2 0 0 0 0 0 0
20 25 18 10 3 () 0 0 4] 0 f]
30 26 19 12 5 0 0 0 0 0 0
10 28 21 13 6 0 0 0 0 0 0
50 29 22 15 8 0 0 0 0 0 ()
50 31 24 16 9 2 () 0 0 0 0
70 32 25 18 Il 3 0 0 0 0 0
30 34 27 19 12 5 0 0 0 0 0
20 35 28 2 14 [¢] 0 0 1] 0 0
1] 37 30 23 15 8 1 0 0 0 0
10 38 31 24 17 9 2 0 0 () 0
20 ) 33 25 18 11 4 () ¥} 0 0
30 41 34 27 20 12 5 {) () 0 0
1 43 36 28 2 14 7 §] 0 0 0
S0 44 37 30 23 ES 8 1 0 0 ()
50 46 19 31 24 17 10 2 () () 8]
70 47 40) 33 26 18 I 4 () 0 0
30 49 42 34 27 20 13 3 () () ()
) S0 43 36 249 21 14 3 () V] 0
) 52 45 37 30 23 16 8 | 0 0
[0 53 46 39 32 24 17 10 3 () 1]
b1 oy 48 40) 33 26 19 11 4 () ()
30 56 49 42 35 i 27 20 13 8] { )
) il 51 43 36 i 249 22 14 1 { ()
50 59 52 45 RS 30 23 16 ) 2 0]
50 fr] a4 46 B 32 25 17 10} 3 {)
70 62 35 48 41 B 26 1] 12 L ()

1]

f

§]

1
()



Arad the numiber ol withiwolding wbowanees clamed is
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than Fhe amount of incomic i i be withheld s
5 . I B ;
$125 : It ) B i ! 0 : i) ]l i) i i i il 0
136 : 1 0 i ! t ! 8] i { I 1 | i 3| (1
135 | i 0 0 | i 0 1] 1 | i [} 1 _ 1
140 5 L. (] i il (i § ' () 0o PR It 0o 1
i43 5 3 o | {0 ) 0| 0 0| o | 0 T 0
150 ! @ i (" 0 ! 0 0 i i 1 T h
155 . i t | 1l 3] 4 U ] ' i i i ]
] | 3 0 i ! {1 0 ! i 0 0 L i | 0
Ios . 1 b { ¥ i) i 1 ( g i ; A
170 E 7 { 4 0 ¢ 0| 0 0 TR
|
i75 i i ¥ ¥ i} i i §] i} i o { i i)
80 3 : ( 0 0 0 y 0 0 S
185 i Y 2 0 { 0 U () 0 0 0 - 0
190 BT 2 0 0 0 0 0 0 0 00
Y3 il 3 0 4] ) t) 4] ] ( {} 8]
200 i 4 {) §] () (] (} () () {) 8]
210 12 A 0 (1 () 0 0 4] (" n 0
25 L i | U i t { U i U U
240 17 10 2 0 0 (0 () 1] {) () ()
250 I 11 4 0 1] 0 0 0 (0 0 ()
260 20 13 5 0 0 0 0 { 0 1] 0
270 21 14 7 0 0 (0 0 0 0 { 0
280 23 16 8 1 0 0 0 0 1] 0 0
290 24 17 10 3 0 0 0 0 0 () 0
300 26 19 11 4 0 0 {3 0 0] 0 1]
310 27 20 13 6 0 0 0 0 0 0 {)
320 29 22 14 7 0 0] 0 0 ] 0 )]
330 30 23 16 9 | 0 0 0 0 0 {}
340 32 25 17 10 3 0 0 0 0 0 0
350 33 26 19 12 4 0 0 0 0 0 (0
360 35 28 20 R 6 0 0 0 0 0] 4]
370 36 29 22 15 7 0 0 0 0 {} (
350 38 31 23 16 9 2 0 0 () 0 (I
390 39 32 25 18 10 3 0 0 {) 0 (!l
400 41 34 26 19 12 5 V] 0] 0 0 ()
410 42 a5 28 21 13 O 0 0 0] 0 {
420 44 37 29 22 15 b ] 0] 0 0 {
430 45 38 31 24 16 9 2 0 0 0 {}
440 47 40 32 25 18 11 4 { 0] 0 )]
450 48 41 34 27 19 12 5 0 0 0 0
460 30 43 35 28 2] 14 7 0 () 0 ()
470 51 14 37 30 22 15 8 I () 0] ()
480 53 46 Eh 31 24 17 10 2 8] ) ()
490 54 47 40 33 25 18 I i 0] () 0
500 S5h 49 41 34 27 20) 13 5 ( () {
510 57 S0 43 3 28 21 14 7 ) 0] {)
520 59 52 14 A7 30 23 [t b | b} {)
530 610) 53 A6 39 2l 24 17 1) 3 {) 0
540 62 35 AT 40 i3 26 19 il 4 { ()
350 63 56 49 42 3 27 20 13 [§] 8] 0
560 63 38 50 43 36 29 22 14 7 0 1]
570 66 59 5 45 37 30 23 16 0 ! {
S50 Sh 61 13 46 Y 12 25 17 it 3 {}
590 6y 02 35 44 ) 33 26 19 I3 4 ()
600 71 o 36 19 th 35 2% 20 13 6 | 0
010 72 65 58 51 43 36 29 23 15 7 0
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Steps: Calevdating Federal Inconic Tax
by the Wage sracket Viethod
STEP 1. Locate the correct payroll period and marital status table,

STEF 2. Find the correct wage bracket in the two lefumost columns. This gives the correg
row. When reading the columa headings, be very careful. “But less than 2807 meany
smaller than 280, That includes S279.99 . but not $280.

SPEP Y Move right in the row o the column with the correct number of exeniptions. Thiy

figure is the federdd income .

For example, Abby Adams 1s single and declares one exemption. Calculate her tederal income
tax (FIT) by the wage bracket method on her weekly wage of $379.36.

Step 1. Use the SINGLE Persons—WEEKLY Payroll Period” table.
Slep 4. 1HC Cuittint wage bracket is Taticast /6, bul iess than J8U,

Step 3. 'The correct FIT amount in the 1 exemption™ column is $42.

(WORK THIS PROBLEM }-———— o - S :
The Question:

James Buchanan earned $715.46 last week. He is married and declares four exemptions. Assume
you are his employer, and compute his federal income tax (FIT) by the wage bracket method.

[_ VYOUR WORK Soptent e A SIS Sl £ e, S SR s o e T S e e e

The Solution:
Step 1. Use the Married Weekly table.
Step 2. The weekly wage is $715.46. 1Cs in the row “at least 710, but less than 720.”

Step 3. Move right in the row 1o 4 exemptions. The FIT is $60.

[sn't it casy? But remember, check each answer. Accuracy is very important in any business
problem, especially payroll.

| é"erfer,r }mu ‘n’aﬂs

/,m single, a \ “That's a no-no.
stuclent, and | You may declare

W} moonlight at || ©One exemption with ¢

two iobs. Can E one employer only.
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ithod A Many emplovers prefer o use the percentage method. especiatly those using computer pay
ulating fed

withhold-

DY COMpL

rolls. Phis method has three steps:

Steps: Calculating Federal Income Tax by the Percentage Method
D : .

STEP . Use the “Percentage Method- Amount for One Withholding Aliowance™ table thai
ndicated lolows o find the amount of withholding allowance for the payroll period. Multiply

this amount by the number of exemptions and subtract from SFOSS Wiges.
PERCENTAGE METHOD—
AMOUNT FOR ONE
WITHHOLDING ALLOWANCE

Une With-

hotding

Fayroll Period LA Howuance
Wecekly $48.08
Biweekly 96.15
Semimonthly 104.17
Monthly 208.33
Quarterly 625.00
Semiannually 1.250.00
Annually 2,500.00

Daily or miscellaneous
(each day of the payroll
period) 9.62

STEP 2. In the “Tables for Percentage Method of Withholding,” find the correct table tor the
pay period and marital status.

STEP 3. Locate the correct wage bracket for the amount found in Step 1 (not the gross wage)
in the two leftmost columns. Perform the calculation on the right.

For example, Mary Todd is married and declares two exemptions. Compute her federal income
tax by the percentage method for a month in which she earned $4.107.49.

Step 1. Since she is paid monthly, the withholding allowance from the table is $208.33. For
two exemptions the allowance is 2 x $208.33 = $416.66. Subtract $416.66 from her
£ross wages.

$4!(]?‘4l) A _ S
~416.06 { 2-5208.33
$3690.83 7T
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[he phrase "of excess over D33588 means her wage dfrom step Lo not her gross wage) ming,,

53388, The remainder of the caleulation—the “%-of ™ problemis just like the ones we

worked in Chapter 4
This method 15 a hude longer than the wage bracket method. But with a hittde pracuce. ity gy

casy. The IRS has mamtrame computers. and virtually every business today uses caleulators op

computers to find FIT.

Using a Calculator to Find FIT by the Percentage Method

When tinding the FIT by the percentage method, you can do the calculations ti one Tong
‘ step on your calculator and round the final answer.

!_ In our example, we must calculate
FIT = 458.25 + (0.28 X (3690.83 — 3588))

If you have parentheses on your calculator, just key in the preceding sequence, beginning
with 458.25 and ending with an equal sign [=].

If you don’t have parentheses, you must do the operation in the double parentheses first,
then the operation in the single parentheses.

FIT = 3690.83 [=] 3588 [=] [x] 28 [%] [+] 458.25 [=]

(WORK THIS PROBLEM}— — S S —

The Question:

James Buchanan carned $1185.46 last week. He is married and declares four exemptions. Com-
pute his federal income tax by the percentage method.

[-__. I/_W)_L_}R WORK J__-_,,-. e,

The Solution:

Step 1. Since he is paid weekly, the withholding allowance is $48.08. For tour exemptions,
the allowance is 4 x $48.08 = $192.32.

$1i8546 ,
-192.32 < 4‘4548.08—’

$ 993.14
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TABLE I—WEEKLY Payroll Period

crnciuding fead of Douseiold

(b MARRIED person—

b I the amount of wiges
Fhe amount of imcome l tafter subtracting Phe wmount of imeome tey

est s to withhold is: : withholding allowancesi i o withhold 1s

....... S0 ‘ Notover SI123 . .. . .. . S0

not over— of excess over-— Over— But not over— of excess over-
176 .. .. 154 $50 RYRR S828 L5 $123
P - e s SN luR 28 M6 ETRE S1.664 SHUSTS plus 284 828
LIS - 321034 plus 31% $999 ‘ $1.664 52839 . 533983 plus 314 S5
+.904 CB012 10 plus 36% =32.295 i 52,839 53,011 . STU4.08 plus 369 H.L83Y
cee o0 5137150 plus 39.6% 54,960 ‘ SNt o s svsnmgr e S1.486.00 plus 39.6% - $35,011

TABLE 2—BIWEEKLY Payroll Period
X It the amount of wages
The amount of income tax (after subtracting The amount of income tax

es) 1s to withhold is: withholding allowances) is: to withhold is:

....... $0 Not over $246 .50

not over— of excess over— | Over— But not over— of excess over—
)52 15% —$100 $246 —3$1,656 15% —3$246
1,998 . $127.80 plus 28%  —$952 $1,656 -$3,329 . $211.50 plus 28%  —$1.656
4590 . .. $420.68 plus 31%  —$1,998 $3,329 —5$5.679 . .. $67994 plus31% —$3,329
2,919 . $1.224.20 plus 36% —$4,590 $5,679 —5$10,021 . . . $1,408.44 plus 36% —$5,679

< ... $3.142.64 plus 39.6%—$9,919 MOABLL s svnamasn $2,971.56 plus 39.6%—--$10,02]

TABLE 3—SEMIMONTHLY Payroll Period

(including head of household) — (b) MARRIED person—
38 If the amount of wages
The amount of income tax (after subtracting The amount of income tax

es) is to withhold is: withholding allowances) is: to withhold is:
S Notover$267 . . . . . ... .. $0
not over— of excess over— | Over— But not over— of excess over—
1,031 15% - -$1038 $267 —$1,794 I 5% $267
2,165 o $138.45 plus 28% —$1.031 $1,794 —$3.,606 . $229.05 plus 28% - $1.794
4973 . $455.97 plus 31% -$2,165 $3,606 —$6,152 . 373641 plus 319% —-$3.600
10,746 - $1.326.45 plus 36% —$4,973 $6.152 -—510.8560 . $1.525.67 plus 36% --$6,152

. $3.404.73 plus 39.6%—$10.746 $10856 . . . ... $3.219.11 plus 39.6%- - $10.856

TABLE 4--MONTHLY Payroll Period

(including head of houschold)

s

(b} MARRIED person—
It the amount of wages



B L S SR B . e i PR e 5 e

IFwe worked the same problem by the wage brucket method we would getashehily differeny
answer. $132.

Yes. you will get different answers with cach method. But if you use the amount in the Hiddje

......

of the wage bracket interval (the average ). vou will get approximately the sume answ

o ‘\.’\,'i!\h
both methods.

Fry computing the income wy on weekly wage of STISS.00. married with four CXCHIPions,
The tax 15 $132 with the w age bracket method and S151.86 with the percentage method. The
wage STIS3.00 is in the middle of ihe interval “at least S1I80. but less than S Roiiding
SIS1.86 to the nearest dollar produces S132 and gives the same answer with hoth methids,

(WORK THIS PROBLEM}— - — ~ -

The Question:

Find the federal income tax to be deducted for each of the followin
centage method.

g employees by the per-

Ml o
gty o lempdonst | Wage 7
Bow, Edie Single 2 $1319.50
Dean, L. L. Married 4 144725 -
Nickel, J. C. ] Single | I 1346.27
Vernon, Jill Married 3 2145.65

|V YOURWORK |—

The Solution:

Bow, Edie: 2 exemptions x $104.17 = $208.34
Step 1. $1319.50 - 208.34 = $SIHL.16

Step 2. Use the SEMIMONTHLY Payroll Period, SINGLE table, Table 3(a).

Step 3. FIT = $138.45 plus 28% of excess over $103 ]
= 138.45+[28% x (1111.16 — 1031)]

138.45 + [0.28 x 80.16]

[38.45 + 22,4448 = $160.89 rounded

"

Dean. 1. 0. 4 exemptions X $104.17 = $416.68
Step 1. $1447.25 — 416.68 = $1030.57



Step 3. FHD = STASHS plus 2897 of eacess over STU3
ISAS -+ [28% = (1242.10 - 1031

I
!
FARAS + [0.28 x 211.10]
3 =AY 108 = 519736 rounded
Vernon. Jill: 3 exemptions x $104.17 = $312.5]
atep 1. 524365 = 3251 =51833.04
Step 20 Use the SEMIMONTHLY Payroll Period. MARRIED 1able. Tabie by,

Step 30 FIT = 822905 plus 28% of excess over $17401
{
ZEU,(h ;25‘1 XK (183314 — 1794]
229.05 + [0.28 x 3Y.]4]

= 229.035 + 10.9592 = $240.01 rounded

o b e
MName 'Si;;;;; : Exemptions | Wage i Bi’i
Bow, Edie Single 2 $1319.50 $160.89
Dean, L. L. Married P T 144725 11454
Nickel, J. C. Single I 1346.27 19756
Vernon, Jill Married 3 _ 2145.65 240. (]l

No. Careful there. The two of you' '
should claim no more than a
total of four exemptions.

I'm married with
two children, and
both my husbhand
and | work. Can
we each declare

\ four exemptions?

Computing FICA
nisurance Another required deduction is FICA (Federal Insurance Contributions Act). commonly

Act)

S known as Social Security. When FICA was started in IL)T*‘_ the ml"im! FIC \ rale was 1%
>ocial Secu- st

ay the ieet CUUMY o v At et ok 1ol e 1O 161




R ““wﬁmaw e T —————— - T ey et
Fhed besss Ruow? : 3/ I run my own \i s i
': @ﬁi’; business. Do | E : 1:
: i pay FICA at the J -+ 1|1 NO. THE RATE FOR
i\ﬁ?.G % rate? P i SELF-EMPLOYED
v s srmmasisms# : .- : PERSONS

IS 15.3%

4 “"\2‘?{; Cuch I o ' ]

\\\% St i it 1D Boonnoo [ [l
ik . e e

In 1991, the IRS divided the FICA into two categories: Social Security and Medicare. The IRS
now requires each to be reported separately. The Social Security rate is 6.2% with a wage base

BT WAy FT A& 1y e
L Lo Ll LR

ALY R W 5 ol Y 5 VREED Lk o o B i fnbp aRipupee i Doy oy

vad AL RRRL Rnph WbellD0n v bl owishek] bl o

2000 FICA Rates

age Base

Social Security 6.2% $76,200

Medicare 1.45% unlimited

There are two methods of calculating FICA: the table “lookup” method and the percentage
method. Both methods give the same result. The table lookup method uses the relevant tables
in IRS Circular E. The percentage method is the easiest method. You simply multiply gross pay
by the Social Security and Medicare rates and round when necessary.

Social Security =

- Medicare = 1 45%

For example, let’s calculate the Social Security and Medicare withholding on a monthly wage
of $2865.

Social Security = 0.2% 3 gross pay
— M NOAT w CIRAS - 177 A2




WORK THIS PROBLEM |

The Question:

YOUR  (alculate the Social Security and Medicare withholding on a monthly wage of 193685,

| ¥ YOURWORK |
The Solution:

Social Security = 6.2% x $1956.835
=“LUO2 X $1936.85 — $121.32 rounded
Medicare = 1 45% x $19356.83
= 0.0145 X $1956.85 = $28.37 rounded

i . . P o i R g R iy : o Y H \Ilil... o) R R

state to state, the withholding methods are similar to those for the federal tax. Other possible
- W deductions include health insurance, life insurance, union dues, annuities, bond purchases,
v retirement plans, and so on. The list seems endless.

. Astatement of deductions must be added to the payroll sheet. Starting with the gross pay, cal-
. culate the federal income tax and FICA. The total deductions will be the sum of federal income
1. o tax, FICA, and the other deductions. The net pay will be the gross pay minus the total deduc-

tions.

o~ For example, if" your gross pay is $2576.42, your FIT is $445.58, your Social Security is

. $159.74, your Medicare is $37.36, and your health insurance is $252.22. Your net pay will be
= a - Net pay = gross pay — total deductions

T . =$2576.42 - (445.58 + 159.74 + 37.36 + 252.22)
S ¢ o R =$2576.42 — 894.90 = $1681.52

e U oy 8
Ny :

[Fk'_r . MQEKI&S_@BLEM]—_'__M—_"— e e e e e B

The Question:

YOUR Complete the following weekly payroll sheet. Don’t forget to total the gross pay, federal income
TURN  tax, FICA, other deductions, total deductions, and net pay columns. Use the wage bracket
method to calculate the federal income tax.

Marital | Mo, of  Gross | ;. Social | i Olher | Votal P Net
b andvrg Bl ssranvndi rurver ? Fhoovs § amene B L . » - ox i - - -



¥ YOUR WORK

The Solution:

b Sunoi FIT, Social | Gross Pay
| Soecunty, Medicare | .
| and Other Deductions | | Deductions
e e [ :

| |
~ b

i Maritad _ [ {1rass { Secial | ey Tl 3 “w
Status | Esesptions Pay Fil | Seeurity | Medivare | Deduactions | Deductions | Pay
S I $ 362 | $ 75 % 3481 S 815 $ 52.70 $170.69 $ 39131
M 4 597 42 37.01 8.66 54.25 141.92 455.08
S | 553 73 34.29 8.02 3195 16726 | 385.74
584 1 48 | 0.z 84T A0 | 140.88 438.12
2296 238 [42.35 33.30 21210 625.75 1670.25
The sum of these fouru Total gross
numbers should equal Eag - fotal
the total deduction. igct;orls—

yment
A federal
1o which
con-
/hich

Be sure to check your work by totaling the columns.

[n addition to withholding federal income taxes and to withholding and matching Social Security
and Medicare deductions, employers are subject to unemployment taxes at both the federal and
state levels. These taxes are designed to provide financial assistance to unemployed workers.

Calculating Federal Unemployment Tax

By law. all U.S. employers must participate in the joint federal-state unemployment program
established by the Federal Unemployment Tax Act (FUTA). Note that although unemployed
workers receive the benefits, employers—not workers-—pay all of this tax.



L e

WORK THIS PROBLEM - %
The Question:

Big Ben's Bolt Company is not puart of any staie unemployment program. Hardy Wep

supervisor tor the firm, wiade $9230 in the finst quarter of the year, What is the con RS

FLITA fax?

B
The Solution:

FUTA tax = 6.2% x $7000 = 0.062 x $7000 = $434

At this time, $434 is the maximum FUTA tax per employee.

Now, for a set of practice problems on calculating taxes, turn to Section Test 6.3.



Phe following problems test your understanding of Section 0.3, Federal ncome Tax and FIC A

Uise the tables given in this chapter.

A. The following is a weekly payroll sheet for the Bridges Construction Company. For
cach individual, calculate the FIT, Social Security deduction, Medicare deduction,
total deductions, and net pay. Use the wage bracket method to calculate the FIT.

___, e L&,L'_-_', w ; (-

& ok SN h
L, : R A
e 20 - f_.‘ iy

E Mar, 0 Mo 0 GLressy | o Socid | L Other | Fuagal Faed
; G i i i o b i W : : & g :
. 1 N R 5 fay ¢ BT Sed, Aledicn et H it
{ M 3 $492 $42.20
M 4 517 4325
SN SO MR : s : S N _ — -
o
1 i E ) i . C oy - ) _.!\ -
> 0 P ‘ ol I o L o T RO S

M 2 522 4315

S [ 543 43.35

- ! il w45 | i

M 2 530 . . - R ._._4_3_.;.;_.._....___._____ N
- ] o M0 |

= i 2 570 -

B. The following is a semimonthly payroll sheet for the By the Byte Software House.
For each individual, calculate the FIT, Social Security deduction, Medicare deduc-
tion, total deductions, and net pay. Use the percentage method to calculate the FIT.

Marn Ne. | Gross Soackall o i Other Total E MNet
Stat. Ex. | Pay - FIT Sex. Medicare Dedu. Dedue, | Pay

S I $1455 $ 92

S 0 1425 [
M 3 1512 | | 98 ,

M 4 , [557 105

i .___; .. S S— _.- scpimi s e i v S T ,?_ e . _‘ I

i I LI X




(. Solve these probicius.

Abe Beame's monihly gross puy is 53873, He bs marnied with three exemptions. 1) Wha
is his FIT using the nercentage method? What are his (b) Soctal Security and (¢) Medicare

deductions”

Colleen Dewhurst's monthly gross pay is 53920, She is married with four exemptions.
(@) What is her FI'T using the percentage miethod? What are her (b) Social Security and

(o) Medicare deductions?

Farieo Fermi's semimonthly gross pay 1s $1775. He 1s married with four exemptions.
() Witat is fus P using the perccitage nietbod ) Whal are lag (O GUERL DOUTILY i

(¢) Medicare deductions?

George Harrison has a semimonthly gross pay of $1850. He is married with two
exemptions. (a) What is his FIT using the percentage method? What are his (b) Social
Security and (¢) Medicare deductions?

Jayne Kennedy has a biweekly gross pay of $1825. She is married with three exemptions.
(a) What is her FIT using the percentage method? What are her (b) Social Security and
(¢) Medicare deductions?

[.ee Marvin's biweekly gross pay is $2050. He is single and has one exemption. (2) What is
his FIT using the percentage method? What are his (b) Social Security and (¢) Medicare
deductions?

Shirley Temple's weekly gross pay is $1005. She is single with one exemption. (a) What 18
her FIT using the percentage method? What are her (b) Social Security and (¢) Medicare
deductions?




g

i

]

6.

Charles Dickens’s weekly gross pay is S4720 He is muaried with two exempions, g Wha
is his FIT using the wage bracket method? What are his (b) Social Seeurity and
ter Medicare deductions”?

Eileen Farrell's weekly gross pay is $393. She is single with one exemption. (i) What is
her FIT using the wage bracket method? What are her (b) Social Security and (¢) Medicare

Jeductions?

- Solve these problems.

1. ) 30 PPN b ) SCRLA] 5 SRR

SHIPLOYSC Cariied $O/UU i Uie ist quarier, wiat 1s the company’s FUTA tax?

- Mike is an employee of the Wild Child Recording Studio. He carned $5900 in the first

quarter. The studio is not required to participate in a state unemployment plan. What is the
studio’s FUTA tax on Mike?

Maria’s Mannequins is not required to participate in a state unemployment plan. If an
employee carned $7500 in the first quarter, what is the company’s FUTA tax?

Bitten earned $8250 in the first quarter at the By the Byte Software House. By the Byte
does not have to participate in a state unemployment plan. What is the company’s FUTA
tax on Bitten?

The Spitting Image employs a counter person who earned $7980 in the first quarter. The
firm does not have (o participate in the state unemployment plan. What is the Spitting
Image’s FUTA tax on the counter person?

Pia earned $9315 in the first quarter as manager of The Pizza Palace. The Pizza Palace s
not required o participate in the state unemployment program. What does The Pizza Palace
pay in FUTA tax on Pia?

: "Thi Z1ippy Delivery Service driver made $R7T52 in the firet mnactor Thi cooamanc G o
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pic I Key Point Example
I.
. . Il CTassEm

MHPLLRE Nadialy payiticiils to tind sadary payments for | Annual salary: $24.900
weriads of less than | year. s 524960
pen ! | Weekly: — == 5480
divide annual salary by the ‘ : 52

: ; |
number of such periods per . 524 9(:()
‘ Biweekly: — = $96(0)

yodr.

f ‘!

| Semimonihly: -“-u— = $1040)

H8I0 _ g
l")

Monthly:

Ll(,Llldt!Il}:, homly pay

Gross pay = no. hours x
rate per hour

Iculating pay with
overtime

Multiply regular rate by 40 to find
regular pay; subtract 40 from
hours worked to find overtime
hours; multiply regular rate by
1.5 to find overtime rate and
multiply this rate by overtime
hours to find overtime pay; add
regular and overtime pay
t()oethcr

lculating piccework

leulating ditferential
diecework

Gross pay = no. pieces X rate per picce

Mu]rlply uu.h number of pieces by the
appropriate rate; add the results.

What is Jane’s gross pay it she works
35 hours and earns $6.50 per hour?
Gross pay = 35 x $6.50
=$227.50

What 1s Tim’s gross pay if he works
45 hours and earns $6.50 per hour
regularly?

Regular pay = 40 x $6.50 = $26()

Overtime hours =45 — 40 =5

Overtime rate = $6.50 x 1.5 = $9.75

Overtime pay =5 x $9.75 = $48.75

Gross pay = $260 + $48.75 = $308.75

Whal 1S Ann’s gross pay if she carns
52.30 per picce and makes 237
pieces?

(mm pay = $2.30 x "’?7 ﬁnh 10

Ru\f earns $2.90 per ch;m' for the first
100 chairs he makes. $3.10 for the
next SO chairs, and $3.40 for cach
additional one. If he makes 162

srhatee vchat e e aveeee e



ey Point

LExample

12 strargin

Cross DAy Citle

- o i = 1
LD s

sslon :

1 shiding scale

SSIONS

| Multiply cach level of sales

reached by the appropriate rate;

add the results.

1g salary plus
ssion

icome tax
lding

itage method,
IX rates)

99 rates)

199 rates)

| o

What is My s gross puy it shie carny
o wO% commission on sales and hay
L sales of $48.17.037
| Grross pay = 6% » S4847.03
= (.06 = 54847.63
=5290.83Y = §290.86

rounded

Lee carns commussions as foliows:
T9% up 10 $8000: 7.5% from wver
$8000 10 $10.000: 8.25% over
$10,000. What is Lee’s gross pay
on sales of $10,846.297

0.07  x$8000 = $560.00

g E 8 A P T 1 s
g s R

0.0825 x 846.29 = 69.82
$779.82

Calculate salary (see page 218);
calculate commission (see page
232); add commission and
salary together.

Lou earns a salary of $26,000 per
year plus a 2% commission on
total sales. What is Lou’s gross pay
for a week with $6000 in sales?

Salary = $26,000/52 = $500

Commission = (.02 x $6000 = $120

Gross pay = $500 + $120 = $620

Taxable wages = gross wages —
(no. exemptions x withholding
allowance) per table in section
17.1

Tax depends on Tables for
Percentage Method of
Withholding.

Use the percentage method to solve
the previous problem.
Taxable wages = $650 — (2 x $48.08)
= $553.84
Use table 1(b), Tax = 15% X
($553.84 - 123) = $64.63

Social Security = 6.2% X gross
pay up to $76,200

Medicare = L.45% X gross pay

FICA =Social Security 4+ Medicare

FUTA = 6.2% X employee’s gross
pay up to $7000 per quarter

FICA = $40.30 + 9.43 = $49.73

What are the FICA deductions on the
employee in the previous example?

Social Security = 6.2% x $650 =
$40.30

Medicare = 1.45% x $650 = $9.43

iFind the FUTA the employer must
pay on the employee in the

previous example.



The tollowing problenis test vour understanding of payroll,

A Lo Complete the following weekly payrotl sheet.

Total | Regular | Regulae © QT 1 O | Repular | O1 | Gross

€ MW F oo Hours | Hours Rate | Howrs ; Kale Pay . Pay | Py

! ! ' { | {
N 0 1) Q g ! bog7 e | ! | i !

itles 9 5 9 & 5| L 76S ’ I |
S, e S (U (S A OSSR SR 1 ~ _
- _ | | -
il Y 5 g B 7 817 |
- v — S S ——— N = [— T - — S—— ST - —— . s e ——— e e N— i o — d{ —— _— D —

! 9 3 9 7 A 792

arolyn 9 9 9 9 10 ! 775 | F

LEibeal B LEL | i i T ! 5 G.UY

nny 9 9 9 9 9 7.93 —
1da 10 9 8 7 9 8.11
2. Complete the following weekly payroll sheet.
}iﬁm‘%’: e e o : -
bl L 3L O | Regular | O F Gross
M T W T F | Hous | Hous ors | Kate | Pay | Pay | Pay
ra 8 9 8 9 8
h 8 9 9 9 8 9.27
-{;.,l_.’_h_._g-_- 3 7 6_ 5 7.95 B d
;[;egg)f _‘-J 9 9 -”-‘)__9 8.55 )
;—M—E_ .T)_ 9 9 9 S | 3 .8.34 | o
;._r}.:_._._ B _3 _.__()__ 1;]‘__9 . "3 e _:)_12_ S I i 5% SRS M
n_y_ I 8 ____? __9 = _()_._8_ _ _.__._______,.___._.____é;.._. N
1_1_\, IR 8 _'v_) 9 SW_S . | 9.19 R
) B RO S L I N
SN RN SR S N I R e e
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Complete the following pay roll sheet.

g’%&jt..’{ (EHIETEH ; i
; ............ S . s '_.i‘s_aé.ai Ciras
Xame PoM : W i ¥ Pieces | Rate | Puy
oy Fherhart, Martin I 5D I 44 3] o) I 51495 |

th. Cirumbent. Kenneth

Norman. Enuna

|
|
S e MR R e s P T .|._._._ =Y o N, I EEETEE—————E——— o gt
S. Rounds. Rick L 44 51 51 S0 50 1.92

Complete the following payroll sheet.

The Microwidget Company pays its employees on a piecework basis using the following
schedule:
[-200 @ $1.40 each
201-225 @ 1.48 each
226 and up @ 1.55 each

ﬁi§.§?t§ﬁ"it§gﬁés '

Nami, = .:'M_ - W §“‘ o Total

9. Greg, Kristin 42 43 45 45 44

10. Milvo, Norm 38 39 40 42 39
Ik Robertson, Richard 45 46 47 47 46
12 Taliaterro. Beatrice 46 46 45 46 46

Complete the following monthly payroll sheet.

- . . . . . 1 . .
Fhe Litdetown Steel Company pays its salespeople a straight 45 % commission.



Complete the following weekly payroll sheet.

Wired for Sound payvs iis salespeople on the followine weekly schedule:
led 2 )

.

19,

20.

S un sales Up to S12.000
Ny

A% on sades over S13.000

oo sades from over ST2.000 w ST3.000

sy

TTPRRY SRS SRR e

{irony Py

M 5 Fotal Sales
OB 00 DB R s ::..:-...-.W\--»w;-~.-.-::--,-f....,.;-.-.,,,:-.www.-,,-.-f...,,.\“—,\,,_..\- R S SRS
Maobley, Sarah 510855 '
Quinton. Sonja | 16,738 5
Tapp. Jefirey 11.952 |
White, Mark 17,023

Complete the following weekly payroll sheet.

densied

Maria’s Mannequins pays its salespeople a weekly salary plus a 2% commission on their sales.

21
.
23.

24.

B.

T

: "N;?Ii?{f - ffm izzisgéi{aﬁ Goross Pay
Nevels, James $3752
_;};mh, 'I?ammy 210 3985 o - S
Willis, Stephanie 195 3228 R
- Young, 'I'arrlm_\,_ﬂ_ 212 4176 - o .

- Cass Elliott’s monthly gross pay is $4025. She is married with two exemptions. (a) What is

her FIT using the percentage method? What are her (b) Social Security and (¢) Medicare

deducnuons?

Karen Carpenter’s monthly gross pay is $4175. She is married with four exemptions.
(a) What is her FIT using the percentage method? What are her (b) Social Sccurity and

PR T O, RSO (e I

(R ]
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Jimi Hendrix has a semimonthly gross pay of 51783, He is single with one exempuon,
i) What 1s his FIT using the percentage method? What are hus th) Social Security and

() Medicare deducuons?

Kate's Delicacies 1s not required to panicipate in g state unemployment plan. It an

cmplovee earned S63350 in the first quarter, what is the compuny’s FUTA tax?

Mike, an employee of the Wild Child Recording Studio, earned $6123 in the first quarter,
The studio is not required to participate in the state unemployment plan. What is the
studio’s FUTA tax on Mike?

Maria’s Mannequins 1s not required to participate in a state unemployment plan. If an
employee earned $8250 in the first quarter, what 1s the company’s FUTA tax?



ANSWERS: Answers for Students

CHAPTER 6: Payroll
Section 6.1

A. 1. $1865 3. $2650

B.

-] Lh L)

5. $272

. $2600; $1300; $1200; $600
. $1820; $910; $840; $420

. $2860; $1430; $1320; $660
. $3900; $1950; $1800; $900

9. $3250; $1625; $1500; $750

7. $876

9. $3425

11. $4550; $2275; $2100; $1050
13. $1430; $715; $660; $330
15. $1950; $975; $900; $450

C-13

11. $895

|. Bender, Keith 8 8 8 8 8| 40 $812 | §32480
2. Chao, I-Na 8 7 6 5 4 30 7.55 226.50
3. Greenwood, Robert | 6 5 8 7 34 6.38 21692
4. Luliak, John 7 & 8 8 7 38 9.83 373.54
5. Pitt, David 8§ 6 0 8 6 28 10.27 287.56
6. Rhine, Alan g8 0 8 0 8 2% 9.42 226.08
7. Tanner, Christie 8 7 7 7 8 37 6.83 252.71.
8. Vasquez, Jose 8 6 5 6 0 25 7.98 199.50
Total ' $2107.61

1. Cramer, Marvin 8 9 10 9 8| 44 40 $9.27 4 $13.905 | $ 370.80 $ 426.42
2. Etheredge, Hugh g8 8 9 9 9| 43 40 9.45 3 14.175 378.00 42.53 420.53
3. Lampron,George | 9 8 7 6 5| 35 35 8.52 0 —_ 298.20 0 298.20
4. McCabe, Lowell |10 10 10 10 9| 49 40 8.99 9 13.485 359.60 | 121.37 480.97
5. Ngvyen, Tri 9 9 10 7 9| 44 40 7.82 4 11.73 312.80 46.92 359.72
6. Reed, Harold 9 8 9 8 9| 43 40 7.95 3 11.925 318.00 35.78 353.78
7. Tivis, Jerome 8 9 8 9 8| 42 40 8.25 2 12.375 330.00 24.75 354.75
8. Wood, Regena 9 8 7 9 10f 43 40 9.77 3 14.655 390.80 43.97 434.77

Totals $2758.20 | $370.94 | $3129.14




vevs L
vEr$ S
Pevs '€
orsivs 1 °d
298 (@) 976T$ (@ 008e$ (® 6
LSHI$ (@) 1€79% (@) 95861 (8) L
9%'9z¢ (@) ST'EIT$ (@ 8S€61$ (B) °C
yLs7$ (O SOOITS (@ 0L€91% (B) €
61'95$ () szoves (@ ssLovs (8 1 O
68°8PT1S ‘T1°9LES ‘T1°7TS ‘SSP6$ ‘SY'LEIS 6
CRTLITS ‘LI'TIES ‘€S 1T$ ‘L0'T6S ‘LS OIS "L
07°956% ‘08°0%¥$ ‘9T°0T$ ‘19'98% ‘€6'0vTS 'S
LY'8STT$ “ES ESES ‘TO1TS ‘PL'E6S LY6ELS €
69°€Z01$ ‘TS TEPS 01 1TS ‘1T06$ 00'8TT$ 'T '€
P6ES ‘85651 “€08$ ‘SEVES “ELS 6
€CLYES ‘LY 6¥1S ‘1T LS 18°0€S '69$ 'L
76'T6ES “80°6T1$ ‘LS'LS 9£'TES ‘Ov$ S
S6'LPES ‘SO'LETS ‘€O°LS “LO0ES "8SS €
LU'SLES ‘€R°EITS “ET LS ‘0S°0E$ PES I 'V
£'9 uonaay
P6'€978 1 o
CCRTS (SS6ETIS L 9%'7SES 9P’ TLIS 'S
€9°867$ ‘€9'871$ € LI'SOES L1°G81% I
01'Z€€$ 'L 09'%S7$ °S
LESETS € $0'682$ 1 'd
0S°ThEES L 0L'T86T$ 'S
0S9SLY$ € $9°662T8 ‘1 D
01'€0¥$ ‘85T 'L 0L'96%$ 90¢ 'S
0¥ 16€$ TST € 01'€0p$ :8ST "1 "9
LUSLYS 'L0T 'L TSPPES WLl 'S
0F'€8€%$ ‘081 '€ SL6TFS ‘161 1V
9 uonsay

spuapmS dof siomsuy P S Y I M SNV

LD



A NS WERS: Answers for Students C-15

Self-Test 6
Al

e .
ln
-

1. Burns, Tracy &8 9 9 9 9 44 40 $7.26 4 |$10.89 | $ 29040 | $ 43.56 | § 333.96

2. Grower, Charles 9 8 9 8 8| 42 40 7.65 2 11.475 306.00 22.95 328.95
3. Jeter, Sandra 9 8 9 8 7| 4l 40 8.17 1 12.255 326.80 12.26 339.06
4. Lee, Russell 9 8 9 7 4| 37 37 7.92 0 — 293.04 0 293.04
5. Mandrell, Carolyn 9 9 9 9 10| 46 40 735 6 11.625 310.00 69.75 379.75
6. Nguyen, Emmanuelle | 9 8 9 7 9 42 40 8.09 2 12.135 323.60 24.27 347.87
7. Palmer, Johnny 9 9 9 9 9| 45 40 7.93 5 11.895 317.20 59.48 376.68
8. Roberts, Linda 10 9 8 7 91 43 40 8.11 3 12.165 324.40 36.50 360.90

Totals $2491.44 | $268.77 | $2760.21

3. (a) $2925; (b) $1462.50; (c) $1350; (d) $675
5. 253;$493.35

7. 242; $447.70

9. 219; $308.12

11. 231; $326.30

13. $3404.25

15. $5692.50

17. $311.38

19. $239.04

21. $93.80; $298.80

23. $80.70; $275.70

25. (a) $24 (b) $26.23 (c) $6.13

27. (a) $48 (b) $25.73 (c) $6.02

29. (a) $282.60 (b) $102.30 (c) $23.93
31. $393.70

B.1. (a) $463.95 (b) $249.55 (c) $58.36
3. (a) $282.60 (b) $102.30 (c) $23.93
5. $393.70
7. $434

CHAPTER 7: The Mathematics of Buying

Section 7.1

A. 1. $54; $396 3. $96.25; $1278.75
5. $66.24; $669.71 7. $44.44; $801.95

B. 1. $403.56 3. $2082.92

5. §398.50 7. §315.58



